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Stochmolatility models

I

For local volatility models, the stock price and the instantaneons volatility are both stochastic
Processes.

However there is only one source of randomness which drives both these processes, namely
a single Brownian motion {W(t)}=p.

The next level of generalization consists in assuming that the stock price and the volatility
are driven by two different sources of randomness.

Definition 1. f;(f@;zo,@}tzn be two independent Brownian motions and {Fy- (1) }i=a
be their oun generafed filtration. Let p € [—1,1] be a deterministic constant and p,n, 3
[0,00)* = R be continuous funct*x’ons.‘@astic volatility model is a pair of (non-
M) stochastic diffusion processes {S(E)}izo. {v(l)}iza satisfying the following system

of SDE’s:

/—2 dS(t) =(ut. S(t er o) (6) @, (1), (1) & [&.,\SER) AQs&S@'ﬂ < EEE}
dv(t) = q(t, S(8), v(D)) dt + B(t, S(0). v(t) N/ o(D) (pdWi(t) + /T P dWa(t)).  (2)
o Y )

We see from (1) that {v(t)},~p is the instantaneous variance of the ktock price {S(t)}i-q.

Moreover the process {W@ (1) }ep given by A\)U Ly Li‘)
-\

V) = pWalt) + V1= Walt) N

is a Brownian motion satisfying

AW () dW P (1) = pdt;
(/_/—/—’
1
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in particular the two Brownian motions {1, (1) }=q, {H"“‘}'}f ~p are not independent, as their
cross variation is not zero: in fact, by p is the correlation of the two Brownian motions.

Hence in a stochastic volatility model the stock price and the volatility are both stochastic
processes driven by two correlated Brownian motions. We assume that {S({)},= is non-
negative and {v(t)}=p is positive a.s. for all times, althongh we refrain from discussing
under which general conditions this is verified (we will present an example below).

Our next purpose is to introduce a risk-neutral probability measure such that the discounted
price of the stock is a martingale.

As we have two Brownian motions in this model, we shall apply the multi-dimensional
Girsanov Theorem to construct such a probability measure.
e —

Let
WO ez0s - AWN (L) Fez0

be independent Brownian motions and let {Fy (!)}pg be their own generated filtration. Let

{61(t) Ym0, - AN (E) 120 €C []:n (t)] and set 9 ) 91“) ----- ().

We assume that the Novikov condition (22 is satisfied (with 6( P=en)? =607+ +

On (1)), S~ —

& e@S: o 1 o
7

() - 5 fu ' ||a{s}||'*rf~) A2 ) = ) My
() o\\SU e

is a martingale relative to {Fy(t) }izp. It follows as before that the map P:F - [0, 1] given
by ——— LA AW

Then the stochastic process {Z(1)},2q given by

- ~
ﬂ-ﬁn —BZ(T), AeF | (3)

is a new probability measure equivalent to P and the following N-dimensional generalization
of Girsanov's theorem holds.

-

Theorem 1. Define the stochastic processes {Hl Thzo. - {-lji-’,-\r(t}},zn by

le'&{!)=@’;£>+ jﬂ Oi(s)ds, k=1, N. (4)
J\f_fq

AN
Then {W{{) bz, .- AWn {J hzo are in nt Brownian motions in the probability mea-
sure P Moreover the filtration {Fuw (t)}i=0 generated by {Wi(t) hso, ... . {Wn(t) hzo 15 @

rﬁ;r:n.micipﬂtmg filtration for {ﬁ-—’l(t}}!zn‘ R {lj’iht'_.\r{f)},zg_

2
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PN
Now let r = 0 be the constant interest rate of the money market and ~ : LOQ—) R be a
continuous function We define

2L SO, vit)) = x 0(1) = (61(0). 0:(0)).
- _—

Given 7" = 0, we introduce the new probability measure PO equivalent to I b}@/&} =
E[Z(T)L4], for all A € F, where

Then by Theorem 1, the stochastic processes
t
e Wi [ i(s)ds. W) = wa(t) + / +(s) ds
RN Jo
are two PO)-independent Brownian motions. Moreover (1)-(2) can be rewritten as ﬁ_)
el < ..Hf \
S sm € A
— 7 W
oSO (), s ek
—_ du(t) = [E—(t" S(t)v(t)) — (t/}.;.ll‘/\i(_\‘{ NB(ES(), v(t))]dt é—

+ A, S(1), v(t) \/I._d“_.{p_l).

where {i0(t, S(t), v(f}) }e=p is the {Fu(t) }i=p-adapted stochastic process given by
—

0(t,5(0), oft)) = O A 2 ()
DS~
and where
W (t) pu )+ V1 - W (1)
Note that the F")-Brownian motions {ﬁ-;l(!)}t-ﬁg. {ﬁ;["'"-"]{f)}tzg satisty
wpd! for p € [~1,1]. (7)

3
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It follows immediately that the discounted price {e="5(t)}>g is a P{)-martingale relative
to the filtration {Fy(t)}izo. Hence all probability measures P are equivalent risk-nentral
probability measures.

E Remark (Incomplete markets).

As the risk-nentral probability measure is not uniquely defined, the market under discussion
is said to be incomplete. Within incomplete markets there is no unique value for the price
of derivatives (it depends on which specific risk-nentral probability measure is used to price
the derivative). The stochastic process {1(t)},~ is called the market price of volatility
risk and reduces to 8(1) = (p(t) — r(t)) /() for v =0 (or p=1).

Consider now the standard European derivative with pay-off ¥ = ¢(S(T)) at time of maturity
T.

For stochastic volatility models it is reasonable to assume that the risk-nentral price Iy (t)
of the derivative is a local function of the stock price and of the instantaneous variance, i.e.,
we make the following ansatz which generalizes (77):

= T ORlG(S(T)| F () Ky, S(0).0(0) (8) 9—

for all £ € [0,77], for all T" = 0 and for some measurable pricing Uy

As in the case of local volatility models, (8) is motivated by the Markov property of solutions
to systems of SDE's.

In fact, it is useful to consider a more general European derivative with payv-off ¥ given by
] [=] .} e

e £ wised sm\\\&uf?ﬂ
Y = h(5(T),v(T)), |
. = 35; Q\-,seﬂ{lﬁb@w

for some function h : [0,00)> — R, i.e., the pay-off of the derivative depends on the stock
value and on the instantaneous variance of the stock at the time of maturity.

Theorem 2. Assume that the functions n(t,z,y), 5(t,x,y), Wtz y) in (3) are such that
the PDE - ~ -~

A+ raedu + Adu + éy:r'z(')‘f-u + %_ﬁzyb‘:u + p_B;ryr'i_f”u =10, (9a)
A=n—Jydy., (ta.y) € (0.T)x(0,0c)? (9b)

admits a unique sirong solution u satisfying u [@, x.y) = hixz.y). Then the risk-neutral price

of the derivative with pay-off ¥ = h(S(T), 'e.rm;d matarity T is given by

(T () = (e, S(0), v(0))
/\./\_/'\
_._1
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where the pricing function fy is given by fu(t. 2, y)

As for the local volatility models, a closed formula solution of (9) is rarelv available and the
use numerical methods to price the derivative becomes essential.

Heston model

A popular stochastic volatility model is the Heston model, which is obtained by the following
substitutions in (1)-(2):

plt, S(t).vlt)) = po, Btz y) =c. qlt,a.y) =alb—y).

where jig, a, b, ¢ are constant. Hence the stock price and the volatility dynamics in the Heston
model are given by the following stochastic differential equations:

Ay @D
(\/
Sk) T S e

Note in particular that the variance in the Heston model is a CIR process in the physical
probability P.

The condition 2ab = ¢* ensures that v(t) is strictly positive almost surely.

To pass to the risk neutral world we need to fix a risk-neutral probability measure, that is,
we need to fix the market price of volatility risk function ¢ in (6).

In the Heston model it is assumed that

P(ta,y) = MY, (11)
for some constant A € R, which leads to the following form of the pricing PDE (9):
, . P Ly o 42
Opu + redyu + (k — my)dyu + Jue Fu+ ?ydy u H peryd; u =0, (12)
= Y~

where the constant k&, m are given bv k = ab, m = (a+¢cA). Note that the choice (11) implies
that the variance of the stock remaing a CIR process in the risk-neutral probability measure.

The general solution of (12) with terminal datum w(7T, 2, y) = h(z, y) is not known.

5
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However in the case of a call option (i.e., h{z, y) = g(z) = (x — K');) an explicit formula for
the Fourier transform of the solution is available, see [7].

With this formula at hand one can compute the price of call options by very efficient numer-
ical methods, which is one of the main reasons for the popularity of the Heston model.

Variance swaps are financial derivatives on the realized annual variance of an asset (or index).
A~

We first describe how the realized annual variance is computed from the historical data of
the asset price. Let T > 0 be measured in days and consider the partition

12 L\
VD=ty<ty<-<ty=T, ty—1=h>0, = A ON[ ™ @
of the interval [0.77]. -TE AnCS

Assume for instance that the asset is a stock and let S(t;) = §; be the stock price at time
tvr . - -

Here L."}'!, . ‘ﬁ are historical data for the stock price and nof random variables (i.e., the
interval [0, 7 lies in the past of the present time).

The realized annual variance of the stock in the interval [0, T] along this partition is
defined as f

n—1
2 _@ qJH _ -
el 1) =32 (lon 5 Liog sm (13)

=
where # is the number of trading davs in one vear (typically, r = 252).

Using 7" = nh we see that, up to a normalization factor, (13) coincides with the sample
variance of the log-returns of the stock in the intervals [£;.6;,4], 7 =0,...,n — 1.

A variance swap stipulated at time { = 0, with maturity T" and strike variance K is a
contract between two parties which, at the expiration date,_entails the exch: -ash
given by N(of,.,, — ), where N (called variance notional) is a conversion factor from
units of variance to units of CUITENCY. -

In particular, the holder of the long position on the swap is the party who receives the cash
in the case that the realized annual variance at the expiration date is larger than the strike

6~ S pat-oeT

3
6&‘/2&1{ - @

S A€ N PO

= N

—

@G CE\NT
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variance,

Variance swaps are traded over the counter and they are used by investors to protect their
exposture to the volatility of the asset.

For instance, suppose that an investor has a position on an asset which is profitable if the
volatility of the stock price increases (e.g., the investor owns call options on the stock).

Then it is clearly important for the investor to secure such position against a possible decrease
of the volatility.

To this purpose the investor opens a short position on a variance swap with another investor
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variance,

Variance swaps are traded over the counter and they are used by investors to protect their
exposture to the volatility of the asset.

For instance, suppose that an investor has a position on an asset which is profitable if the
volatility of the stock price increases (e.g., the investor owns call options on the stock).

Then it is clearly important for the investor to secure such position against a possible decrease
of the volatility.

To this purpose the investor opens a short position on a variance swap with another investor
who is exposed to the opposite risk.

Let us now discuss variance swaps from a mathematical modeling point of view.

We assume that the stock price follows the generalized geometric Brownian motion

e
bLf) = S(0) exp (fr o s)ds +/lfcr(s)d.ﬂ-’(.s)) L&
0 0

Next we show that, as n — 00, the realized annual variance in the future time interval [0, T
converges in L? to the random variable

or :@log 108 8|(T) = &

To see this we first rewrite the definition of realized annnal variance as

GorsTInV U
hOXLO & o€ (13)

o (n,T)= r E log Six1 ’ 5 log S(T) 2, (14)
Lyear' 't T ~ S_-,' n’l S(0)

Hence

n—1 2
. . H Sit1 . 2
lim o}, (n,T) = lim (Iog . ) in L~
n—pog o FEA n—mvTZ SJ-

=0
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Moreover, by the definition of quadratic variation, it follows that

n—1 2 2
3 S
E iz (Iog JH) - Qr — 0, asn — oo
T S;

=0

A variance swap can thus be defined as the (non-standard) European derivative with pay-off

Y =0Qr— K.

Assuming that the interest rate of the money market is the constant r € R, the risk-neutral

value of a variance swap is given by = A _ﬂ
I z X N 1 (Q/_

/

Iy (1) = e "E[Qr — K|Fw(1)]. (15)

where we used that Fy(0) is a trivial o-algebra, and therefore the conditional expectation
with respect to Fyu-(0) is a pure expectation.

As none of the two parties in a variance swap has a privileged position on the contract, there
is no preminm associated to variance swaps, that is to say, the fair value of a variance swap

is zero (his is a general property of forward contracts).

The value K, of the variance strike which makes the risk-nentral price of a variance swap
equal to zero at time { — 0, L.e., IIy-(0) = 0, is called the fair variance strike.

v = (@i%fx

Oy = %\30\ € eodt

To compute K, explicitly, we need to fix a stochastic model for the variance process {a2(t) };=q.

By (16) we find

Let us consider the Heston model
——

[/dJQ(f} = a(b— o2(1))dt + z:o(f}dfif(t}, 1 (18)

where a, b, ¢ are positive constants satisfying 2ab > ¢ and where {W(t)}y=q is a Brownian
motion in the risk-nentral probability measure.

8
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To compute the fair variance strike of the swap using the Heston model we use that

Ele?(1)] =abt —a /Pi[a‘z(s)] ds,
o —

which implies %]E[nz(f)] = ab — aE[s2(1)] and so
[N = e )

Elo*(1)] = b+ (of —b)e ™, of = E[o*(0)] =(0*(0) (19)
L— —— _—

Replacing into (17) we obtain
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Exercise 1. Given oy = 0, let o(t) = og+/S(t), which is an example of CEV model. Compute
the fair strike of the variance swap.
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Exercise 2. Assume that the price S(t) of a stock follows a generalized geometric Brownian
motion with instantaneous volatility {o(t)}i=0 given by the fw—

2(t)) dt+co(t) dﬁ;{t). where {W’(t‘.}}izn is @ Brownian motion in the risk-neutral probability
measure and a, b, ¢ are constants such that 2ab > & = 0. The volatility call option with strike
K and maturity T is the financial derivative with pay-off

>

whe: TE K i the number of trading days in one year andN is a dimensional constant that con-
verts units of volatility into units of currency. Assuming that the inferest rate of the money
market is constant, find the partial differential equation and the terminal value satisfied by
the pricing function of the volatility option.

R
T <527
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¢ ’ ! T et Cedt
N Q—‘z QDK N oA + A D‘Zk‘ a6’ Jd¢° x’b\/ N 3%3 o)

— = 2 —_—
+ DZYKAO,(Z 8 () *sté&%@') )
z

Q
11

(___ ) at x (Vz\l\;b(@
WS LR YL xS xS E R e 50
€CTED w@-m o—

X >0

X > ¥ e %(’C\‘-‘ < o)

é ~ o — "Lt ) c\,(\'—'\_)
Ml v w=Ae :6@?‘&

Lecture 18 Page 11



a' /,C;. _ (394 a
at > o ad -v

15 (7 <) = o0
< (7 )= s O =9 @)

Lecture 18 Page 12

T
%:h ke

k%



den 17 februari 2021 11:27

Siug (ﬂ

St NouEluTY See W
Ve

S -
ASE = nsw)at « TSt JW D)

Sz 4 (BLrTe-ScholEs)

o Q?&,-\/j (oe ~ué -vércs&.,..-)

7

o Lle

‘/ﬁk
(ke 9T @EVEOSOLED By T

bESo0 OSEL  WTE P 74 O

Lecture 18 Page 13



